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Instructions To Candidates

All questions are compulsory.

All questions carry equal marks.

Negetive marking will not be applicable.
Total no.of Questions 120.

Separate sheet is provided for descriptive test.



1) frafaf@a # & iq wd gafad 78 &2
A) FACIT HR - SEma or
B) oddllell - FFehdTol
C) e s - gsaany
D) #ANTHR - grehr

2) JTeIaTeT gTeY gl WX JaeUd g2
A) 3OS T
B) 3ccaRr@s
C) o=@
D) SIFH HHR

3) &Rl Td ERASY Tshard T o & 3 €72
A) ST T
B) 3freciorar
C) HASHEIE
D) HYF AT IA R

4) Ta2g FT TFR A Tl TUH JTET S AT?

5) TdHTT THI H ldA-dhid A U T T T 6T
g7

A) 3@ 3Eeforar 3R SenfehedeT

B) 3m@Rer iteeiorar, gehl «fv sare

C) Tt Iccrr@s 3R gSiafRIan

D) ssitel 1A, e o ,qehi 3R 3ccrras

6) fAeAtaf@d & & Pl T ST el T TeTh Te1 872

x >

C
D)

7) ACIYS AT IRIATIRIREISATRF AT ?

1. AFAR AT ALT UG F 3cIHA gIas HeAeh Il
HAEEATE

2. 37T TSt A AfGAT 3eIAT gl HET Jeel AT &
gl e

IRICGIE
) FTATYT
)

fer

Which of the following is not correctly matched ?
A) Kamalpreet Kaur - Discuss throw

B) Lovlina - Boxing
C) Fawad Mirza - Horseriding
D) Mannpreet kour - Hockey

Where Galwan Valley is located ?
A) Arunachal Pradesh

B) Uttrakhand

C) Laddhak

D) Jammu & Kashmir

Hurricane and Tornoado occers in which country?
A) Japan- China

B) Australia

C) Madagascar

D) USA

Who was the first traveller who took round of world?
A) Vascodagama

B) Meglin

C) Captain Cook

D) Captain Tasmain

5.Which of the following countries are not affected by
forest fire , currently?

A) USA , Australia , Kazakistan

B) USA, Australia , Turkey
C) Turkey, Uttrakhand ,

D)

, Iran
Indonesia
Brazil, USA , Australia , Turkey, Uttrakhand

Which of the following is not a tributary of river
Chambal

A) Parvati
B) Kalisindh
C) Banas

) Sindh

Why MP is known as native home of rivers?

Most of the river originated here and then flow to
other states
Most of the rivers originated in other states and than
flow in MP
A) 1is correct
B) 2is correct
C)

)

D

Both is correct
Both is incorrect




8) #Rd & 3NcfFuyh AT vua AR ifow TR gew

g1 H, Ygeh e -he AT AT?
A) 1936 TUdF 1964

B) 1928 3Rk 1980

C) 1936 3R 1984

D) 1928 3R 2020-21

9) 31dY AT STEIell RIS H AT giddT g7
A) i fedigd
B) ATAe 3rcalga
C) TS 3Hedhlgal
D) $&# & &Ig el

10) IfAwlet &1 "ay fHad g2
A) faer gt
B) T 39
C) &3 39
D) NONE

11) enf@w &1 d@eyr fraw g2
1. IE TH TISRK &
2. I 9 dRRE §
3. 3 Zero-Click 31¢a oY &ga &
4, FHH FAATOT FT AT HFETel GaRT fhgr =T
A) 1,2
B) 1,2,3
C) 13
D) All

12) IRA &1 Thar HR @sar i1 w/T W AR 3\
T g W e 3USey TR H fRar 9w

g2

A) wfaure $r 32 fRrer

B) s & afifa ders dca
C) #Hel AR

D) e &l

13) Fg IR T F T g gt Qaer 1 Aok
A H IRT HT & 3T AT Hr Afed

fheesh aela AT &2

A) Treelt fOwIRar & 3ideta
B) 3ol 3RSRAT & 3T
C) HANTAHRAT & el

D) Re fwRar & 3iaefa

8) When was the first and last time India won gold
medal in Olympics?
A) 1936 & 1964

) 1928 & 1980

) 1936 & 1984

) 1928 & 2020-21

O 0O ®

9) What is illicit or poisonous liquor?
A) Ethyl alchohol
B) Methyl alchohol
C) Sprit alchohol
D) None of the above
10) Unicorn is related to which of the following?
A) Gig economy
B) Start up
C) Stand up
D) None

11) Pegasus is related to...?

—_

Itis a spyware

2. ltis a worm virus

3. ltis also known as zero-click attack
4. ltis created by an Iran company
1,2

1,2,3

1,3

all

12

-

"To Protect the unity and integrity of India and keep it
intact” , which part of Indian constitution have
provision for this ?

A) Preamble

) DPSP

) Fundamental rights

)

o O @

Fundamental duties.

13) In case of dispute between states and the union the
power of HC to give the decision comes under ?

A) Aduvisiory jurisdiction
B) Appellete jurisdiction
C)

)

D

Originial jurisdiction
Writ Jurisdiction




14) ¥R & Efaue & Tefafad & 4 e gaus
@I 93Td RIGT 9T g §7?

T & i faderes dea &t

AT vd AR T R

AT ARaR

Hel el

ARy QU 91T e o1 ITFNT F FE 3cck HT e
£y

A) 1,25
C) 1,2,34,

o0k wbhd =

B) 3,4,5
D) 1,2,3,4,5

15) faf@a & ¥ a9 F¥ s9c F IR W
3R FHe A 38 T A & AU Seaars §?
A) JorEd faHTeT
B) 3nf¥e Am@elr &1 fasmer
C) facdT Fam3it & fasmer
D) =g fa#mr

16) ¥RA # TSEIT STol TATHT URYG &l IETET hiel
glar & ?
A) TETAFAT
B) STel T@TYA HAT
C) uITeRoT U gef HAT
D) faae wa wigifarhr #T

17) FUAA) HRd H§T # FHAT 9R¥G FIFdT & &
wdar 3R TeTweT et & 9fd IS ¥ |
FROT (R) hadT AR TSITAT il & dGed
T PR F &7 §oa & W gr=ar @ § |
A) A 3R R 2= wdr &

B) A ¥R R @l & & Wed R, A &1 ¥l
FSEHIOT G AT ©

C) ATEN & Wd R 7oid &

D) A d § W R @6l &

18) Arafafad wyat W AR fifsw

1. o or@r afAfd &1 reder g 3redst
<A faga fvam S &

2. i o@r FfAfT A AT TSTT AT TqHT
T 3R 3T TUT AR & FS SAW-A
afeg afFafed ga &

3URIT FUAT F T BT AT T

A) Fae 1 B) adr 2

C) 13k 2 D)ardar1 3R arar2

14) Which of following provision of Indian constitution
have impact on education ?

DPSP

Rural and Urban bodies

Fundamental right

Fundamental duties

6th schedule

7th schedule.

Choose the correct option

A

A) 125
B) 1,2,3,4

B) 3,4,5
D) 1,2,3,45

15) Which of the following
preparation and presentation of union budget at
parliament.?

is accountable for the

A) Revenue department
B

) Department of economic affairs
C) Department of Financial services
)

D) Expenditure department

16) Who is Chairman of the National Water Resource
Council in India ?
A) Prime minister
B)
C) Enviornment and forest minster
D)

Water resource minister

Science and technology minister.

17) Statement (A) :Under the union of India, council of
minister is responsible for Loksabha and Rajyasabha.
Reason (R) : Member of both, Loksabha and Rajya
sabha,have been qualified to become the ministers
A) A and R both is correct
B)

C) Ais correct but R is incorrect
D)

A and R both is correct but R, doest not clarify A.

A is incorrect but R is correct.

18) Consider the following statement :

1. The Chairman of Public accounts committee is
appointed by Lok Sabha Speaker.

2. The members of Public account Committee ,
comes from the members of Loksabha, Rajya
Sabha and the eminent persons from trade .

Which of the above is correct

A) Only 1 B) Only2
C) 1&2 C) None




19) S5 $RAT =S Fgfd H whfed AheaT ama

AT A9 HRA & HTT FARERT HiA I?
A) TH frarIdeds

B) T UH 3gHGT

C) T Ug 3G

D) 9T $Iradr

20) faesT faurgsl & & fF9 tF &1 9RO T8¢ &
Qe HEAT SaRT HeraT-37ereT AV dgAT & 9IRA
BT 3MaTh ¢ ?

A) araReTr fa9gs

B) &« fatge

C) Taca a9

D) dfaure @ A9

21) TG & Ig Hded g fh dg SIET IHHT qAT
AR ST A UcAS TS HT @ S UAT
gaue HRAE Hiaue & e dgese # @
& & H §?

A) 3eSe 215
B) 3o 275
C) 3J=de 325
D) 3o 355

22) AfFaar & s fha srfafage & ¢ g2
A) #ref fHer gum 1909
B) Iy WFEHIS FUR 1919
C) #Rd "R FfAfaT#H 1935
D) Hieeic AT 1946

23) AEff@d & @ @la-ar gashieh &l 3T
AR SIRY AT faRar Srar g7
A) HRT FAdTEaR Feehich
B) fadd deokar Hahich
C) Taeo HdETUT IHIUT e Feahish
D) ALL

24) X Arfafea & & feg & @ 99 @ FJE
Ao § 2
A) ="
B) fedArae uger
C) 3ccRI@s
D) SIFH HHR

25) qfea#d el Fr A1 Heafafaa # @ fFa @
STET THedr § 2
A) AU B) #fcreT

C) ¥« C) @A

~—

~=2

19) Who was the CJI who introduce the PIL in Indian

judiciary system ?
A) M.Hidaytullah
B) A M Ahmedi
C) AS Anand

D) P N Bhagwati

20) Which of the following bill should be passed with

special majority in Both the houses separately?
A) Simple bill
B) Money bill
C) Finance bill
)

D) Constitution amendment bill

It is the duty of Union to protect its subjects in case of
external aggression or internal unrest, this provision

cones under which article of Indian constitution?

A

O @

)
)
) 325
D)

355

which of the following bill provides for separation of
power?

A) Morley —Minto reform 1909

B) Monteque —Chemsford reform 1919

C) Indian Government Act 1935

D) Cabinet mission 1946

23) Which of the following index is not issued by NITI

aayog.?
A) Indian Innovation Index
B

) Export readiness index
C) Swachh Survekshan Rural award Index
)

)

All

24) Which of the following state/ UT does not share its

boundary with China?
A) Laddakh

B) Himachal Pradesh
C) Uttrakhand
)

D) Jammu & Kashmir

25) The boundary of West Bengal doest not share with

which of the following ?
A) Nepal B) Bhutan
C) China D) Assam




26) STaTae 9ad Ao fFa Tsg & afeud g7
A) ALT Yo
B) #ERTSC
C) T
D) Scdiaeg

27) Vet GITac TARS ALT YA H Fgl S S

R
A) STEAR
B) varferk
C) &#grer
D) gaRk

28) e U T IS 2 a¥ & AU EIFA F &
IRISERT | |G &I 3TEaT TAT a1 ?
A) #Rd T W
B) #Rd 3R &
C) #Rd 3R IH=AT
D) #Rd 3R gREa

29) 13 wad{l 2021 &I & HA I Hg o Fa
TSI # TAAYHH HTAATT HT 3HEe fhar?
A) ALT yor
B) 3¢k Yeer
C) TsTEdmeT
D) IR

30) AEfaf@a & & #ia ar g q@t 82
A) IR g & e arell AGHRI-UsTHS
B) T& ¢ H Hhelol arell SlARI- UsfAs
C) s fAfaa 7 & therar arell fAR- tiusf@s
D) 39ged # & &I el

31) & T GET TelloAT seh hgl EAMUT T 112
A) feeelr
B) R
C) #grer
D) dets

32) T AR Aefelsl & IR # o Fya 7 § @i
a1 |EY e & ?
A) ST @ geEdias 3¢9 §
B) el sgel &
C) S & Ty alal T Yeld i &
D) a=t sed 37 & fAfHT §

26) Balaghat mountain range is situated in which of the
state ?

A) MP

B) Maharashtra
C) Rajasthan
D) CG

27) Rani Padmavati memorial is constructed in ?
A) Jabalpur

B) Gwalior

C) Bhopal

)

D) Indore

28) Which of the following nation is elected as Joint
President of International Solar organization for two
years?

A) India - France

(o8]

India — Russia

O

)
) India — Germany
)

O

India — Isreal

29) In which of the following state defense minster
rajnathsingh inaugurated Jalabhishekam campaign ?
A) MP

) UP

C) Rajasthan

D)

o3}

Gujrat

30) Which of the following is incorrect ?

>

Disease spread in whole world — Pandemic

(o8]

Disease spread in one nation — Endemic

@)

Disease spread in fix area — Epidemic

)
)
)
)

)

None of the above

31) The second plasama bank of India is situated in ?
A) Delhi
B) Indore
C) Bhopal
)

D) Chennai

32) Which of the following statement is not correct in
context of starch and cellulose ?
A) Both have vegetative origin
B)
C) Both give colour to iodine
D)

Both are polymer

Both are formed by the atoms of glucose




33) AT R T ’dRS TIGAT AT Fdellhed & foIT
gANT H A drell  IRepfedd AT & T
et & & &l & 9T F a9 ST
A) TEH T
B) «afer feReor
C) ISR 3IefAe;

D) 33t amsdrRcT

34) 3¢ YA Fa3 I IUAT fFA FEA & fAw wear
g
A) ST & TIGUT & forw
B) @&l & HIGU & fow
C) AR T aTe] & ToId FHI WR HT Aol
AT @I & fow
D) dmA & fgaa & e

35) et & & T ool HAART HieT AT g

A) &3 BT B) Trwh f3ad
C) ISEex AARY D) 9 gBa

36) UTEHd SHIS ¢ ?
RAULH] B) 3mgar #
C) §d & ydig &Hr C) a I

37) & afdd & Hagaeliel adie] W eI ¢ 3G a8
TG T e odT &l Rrsf Hr ffar
A) sl

) Tt

C) {FT W FS werra AT g

D) 3% §¢f a1 uesl IF agHSA gad W
Ao

38) dfelenl @RT T & 30T oT&T &l Gael fALATor
A & T Hler A e &1 2T fhar S g
A) I3 G
B) {&H ader

) 3aRad aXeT

D) SHEF # & WG

39) et FUet W =R AT FOR el 39dqad
e B
1. 9o & fow
2. Wi & HUS Ul & fow
3. Sed # yAeT & v
4. wEer 1 A & v

FOH A PiT BT T HUA TET &

A) 1,3 B) 2,3
C) 1,24 D) 1,2,3,4

53}

O

33) Which of the following is used in the diagonis of
internal structure of Human body ?
A) Xray
B)
C) Magnetic resonance
D)

Sound wave
Radio isotope

34) Hump of camel is used for ?
A) Water conservation
B) Fat conservation
C) To maintain balance of body while walking in
desert

D) To regulate the body temperature.

35) Which is the fastest memory ?
A) Hard disc B) Magnetic disc
C) Register memory D) Pendrive

36) Pascal is the unit of ?
A) Distance B) Humidity
C) Flow of liquid C) Pressure

37) If a person is standing on a sensitive weigh machine,
if he inhale a deep breadth than the reading

A) Increase

) Decrease

C) No impact on reading

) Increase or decrease will depend on the
atmosphereic pressure.

38) Which of the rays are used by military soldiers to
indentify the target in night ?
A) Radio wave

o8}

Micro wave

O

)
) Infrared
)

O

None of the above

39) Hard water is not suoitable for which of the following
1. Drinking
2. Washing clothes using soap
3. To usein boilers
4. linirrigation
Which of the above is correct
A) 1.3 B) 2,3
C) 124 D) Al




40) yu+ faeg g€ # feaafaf@a 7 @ 5w &
TS IgFd & & H G AT @ °r
A) FEd ARiFAES
B) gIS3IoA WSS
C) #iFes 3w
D) R I\

41) et gerdt & & il @1 gerd T B aEgsi
gRR&ToT H YT g T §
A) AifsTH gEsieaEs
B) urefe FoREs
C) TIf3TH FRBS
D) @fsad seiive

42) g1 & fArAfaf@a wert & ¥ fraer gl garn
& HIMYOT gidr g7
A) ST AR AREf
B) e 3R @
C) sf3am 3k drer
D) drer 3R darer

43) farafaf@a & & AT i & F9g # F@gr wer

g7

A) Ig URAR AT AT

B) W% IR H SATHARI ey TIed & Herdr
g

C) FE IR iR der & AR AT

D) 4« Shedllel UG HATAAl X 39T AT T
foram e

44) AT 3HAY A0 T hd gRTEAT 7 S8 giar ?

46) HaA & I H AT FEl gl g ?
A) TH FFEAWR
B) g fru &7 & Rfdedw "t & &9 &
Yefid &ear §
C) &I fiAToT DRDO @Rt fordm 3T ?
D) &I & 3MUR WX 8] HFYET Alolell oy iy

40) Which of the chemical is used in first world war ?
A) Carbon mono oxide
B) Hydrogen cyanide
C) Mustard gas
D) Shirin gas

41) Which of the following is used in the preservation of
edible product
A) Sodium hydroxide
B) Pottassium chloride
C) Sodium chloride
D) Sodiun benzoite

42) Which of the following types of light is absorbed by
plants?
A) Purple and orange
B) Blue and red

C) Indigo and yellow

D) Yellow and purple

43) Which of the following is not related to Mihirbhoj?
A) He was a Parmar ruler
B) Information about this is available from Gwalior
Prashasti.
C) He was Guijjar-Pratihar ruler.
D) He annexed Kannuj and Malwa.

44) In which of the following circumstances temprature
inversion does not take place ?
A) Long nights
B) Clear sky

C) Extreme sun light

D) Calm and stable air

45) Who has the responsibility of
Constitution in Lok sabha .
A) Speaker
B) Supreme court
C) Leader of Lok Sabha
D) Attorney general

protection  of

46) What is not correct about BHUWAN?
A) ltis a software
B) It displays three dimensional picture of any
particular area.
C) It was created by DRDO.
D) Land planing was introduced on the basis of it.




47) PFAfTRT F ¥ Faar I § FEfad g2
A) TE ST 3R § A R F g arelr
Taafae Ufshay & GE™ar S &,
B) ug faffiea ueraf & iR & [ffies amlf a=
qgdA A IFd A Hee AT §
C) I8 TR v & fdfa e ¢
D) I¥§ THAUT H oIS H #AGG I ¢

48) 3T UEHIAT
stnfos @ - it T
A) 3l ga - Uee =
B) cfarof ¢a - R g B
C) 3icrhfeat - SF Fh
D) a¥cssrat - Fleled

49) gAY &aRT oIS 9T g HT Hel A FAT § ?
1) Reama &1 gg 2. e & g8
3. ST W Ig 4. wifde #1 3¢
A) 1,234
B) 1,324
C) 3124
D) 32,14

50) Hal 3MYfcifras arT e $r S g 2
A) faca AT
B) THEINTS
C) <R NN
D) 3RS

51) farfaf@aiaag 3t iaareiATTa R AT eIl olel

FEUHPIEGISICRHISTATRI AT 2
A) 3T B) 3T
C) 3= C) IHhd

[

52) facdir @Amaea & gicafed fohar ST dehar § ?
A) TR AT & Afse @@ g3 r IR e
B) &H I dlell &I facdig AQT Yer aleh
C) fa#= 3T T3t & banking JATT eI FHh
D) 39w wsfr

53) TSET 3TIST AT Tl RICHIDT TATTAT FHEl T
g ?
A) AR
B) BerEg
C) Al
D) &faTer

47) Which of the following work is related to enzyme ?
A) lts a bio catalysts which helps in the chemical
reaction of the body.
B) It helps in the transportation of different elements
in different parts of body.
C) It controls the body function.

D) it helps in fighting infections.

48) Identify the incorrect.

Geographical discoveries Discovered by

A) North Pole - Robert Pirre

B) South Pole - Ericd red
C) Antartica - James cook
D) West Indies - Columbus

49) What is the right chronological order of battles
fought by Humayu?

2. Battle of Chausa

4. Battle of Sarhind

1. Battle of Bilgram
3. Battle of Devra
A) 1,234

B) 1,3,2,4

C) 3,124

D) 3,2,1,4

50) Who controls the monetary supply?
A)  Finance ministry
B) SBI
C) Equity market
D) RBI

51) Which of the following organ in human body , stored
carbohydrate in the form of Glycogen?

B) Stomach

D) Liver

A) Intestine

C) Pancreas

52) How financial inclusion can be promoted ?
A) By issuing special credit letters to the beneficiary
B) By providing financial services to low income
group
C) By providing banking services to low income
group
D) All of the above

53) National Disaster Response Force Academy
established at?
A) Bengluru
B) Hyderabad
C) Nagpur
D) Bhopal




54) T H Tefeplel &l AT A1 [AR¥d @ & faw
SckerdY 82
A) THd
B) &g
C) 3R
D) 3%

55) gfSe A1 T &g foig giar &7
A) 371 AfETSH
B) #HT AfEdSH
C) T ATEISH
D) 3uieFdasT

56) SEEARISS T 3ETEL0T &7
A) gslst B)
C) aFersT D)

57) Arafaf@a & @ Sl yHRiTd-q 1 3eeI0T el
g7
A) R F X FOl & d & fow
B) R & 3R s17am s adrafor
C) vl T {ecter 1 3mafdiad el &
D) faegd faetel &I gehrer Rveter & seo &

58) NGT el & lefel & gcl HIA T Faadls el
F TohdT § ?
A) ST yeyoT IR
B) arg weuur Jftrfaas
C) defolld  TXaTur fafags
D) W& gIar ST AT

59) AR HT AT YT Foil-Sall I Teaeel FHal
$r T Fol ¥ gFIOT § ?
A) 7Y R B)
C) Toreretare Raehar D)

R EINGECTTI
IFREdr ”Eher

60) feT H & fh@st 1930 # the “Declaration of
Independence” pledge,(Tadadr & GIYUIT &Hr
gfaT) &7 9T (31%e) darR foRar ?

A) AT Ag%
B) SIAEdlTdl =ig%
C) HGIcAT el
D) dod#l 1S Ueol

61) T & 3 Hefaresh A2
A) Tafegs fafea B) fafeas siw
C) g g D) 3Meidoisy Hfeigs

54) Which of the following is responsible for maintaining
the quatity of glucose in blood.
A) Liver
B) Heart
C) Stomach
D) Kidney

55) Which is the centre for vision in brain?
A) Frontal brain

B) Mid brain
C) Back brain
D) All

56) Disaccharides are the examples of?
B) Maltose
D) All

A) Sucroes
C) Lactose

57) Which of the following is not an example of optical
Fiber?
A) To send laser rays in the body
B) To examine the internal parts of body
C) To magnify the light signal

D) To convert electric signal into light signal

58) Under which of the following acts NGT does not
exercise its jurisdiction?
A) Water pollution act
B) Air pollution act
C) Wildlife protection act
D) Public liability Insurance act.

59) Indian Monalisa,Bani-Thani painting form is related
to which of the following?
A) Mathura painting B) Pahadi painting
C) Kishangarh painting D) Amravati painting
60) Which of the following prepare the draft of
Declaration of Independence pledge ?
A) Motilal Nehru
B) Jawahar Lal Nehru
C) Mahatma Gandhi

D) Vallabh bhai patel

61) Who translated Geeta in English?
A)  William vilkins
C) James Pricep

B) William Jones
D) Alexander Cunnigham




62) TR Hegielel & AR Taugs fhaer fear ar?
A) EIlsleq EIEICA
B) &mer #TS ARl
C) 07 $AR fax
D) dTell dTeiad I

63) fores @gT foh R YT & Taffeet Teapfal &
|l I Teh AT A ARG & TadIdl FGaH H
aArere &ar § ?

A) T ATFY
B) #IféeT o2R
C) #HglcAT el
D) Mg Aty IR

64) 2020 T IME AT GIEHR hal FereT fhar Iar?
A) ST ASET
B) @ HeligigAT
C) sfas Arear
D) None

65) Telfedeh 2020-21 & IR H FIT TEl el & 2
A) #Rd & fav vafced # afFdera Aofr 7
RSt AYST o YUH TUT Yoo red forar
B) #Rd & Fel 7 Jeh e fohdr
C) #RT & 30 Wol gfaeasel # ¥& 47 W g
D) =R @iusT o HTeT Hhepr 87.58 m o HTel
et

66) o=t 3 @i e gAfoT T 872

A) A Td R Hg - HACT AR
X H UHIHA

B) Afgem3it &r wehifdar - arferaT 31T
QT & Herel el

C) fear Mifsa wfgemsit &1 - sy rfAaa
ofl Gy 3uciety e

D) AR & AR
g TETA AT

- A g AT

67) q¥d® I W sallleier & or@d HieT 82
A) Wcfel T
B) dehar Arag
C) SRRH Y
D) af¥r ¥

68) #IsT ALY #UTel & fohd HEUT SART RUT YaleT
fRar =m?
A) tRaE e s
B) & SdcudcT s
C) dcs d&
D) W grd¥cHe

62) Who first originate the concept of Swadeshi
movement?
A) Dayanand saraswati
B) Dadabhai Noroji
C) Krishan Kumar Mitra
D) Lala Lajpat Rai

63) What said that Indian railway contributed in India’s
freedom struggle by uniting the people from
different culture ?

A) Karl marx

B) Martin Luthar
C) Mahatma Gandhi
D) Rabindra Nath tagore

64) Gandhi Peace award 2020 was presented to ?
A) Nelsion Mandela
B) Sheikh Mujiburrahman
C) Devid Maalpas
D) None

65) Which of the following was not correct for olympics

2020-217?

A) Neraj chopra won the gold medal in personal
athelitics

B) India won total 7 medal

C) India’s rank is 47

D) Neeraj chopra throw the javelin at a distance of
87.58

66) Which of the following is incorrect?

A) To decrase maternal and neonatal rate -
Mamta abhiyan

B) To decrease anemia in female - Lalima abhiyan

C) To facilate women exploited by violence — Laado
abhiyan

D) To make female independent and empowered —
Shourya dal yojna

67) Who is the author of book Battle of Blogging?
A) Chetan Bhagat
B) Vainkiya Naidu
C) Jairam ramesh
D) Shashi Tharur

68) Which institure provide the loan for Bhoj metro
project ?
A) Asian development bank
B) New development Bank
C) World bank
D) European Investment bank




69) 3reieTe HEEH FAGTdEr vd AT 9T e
FFEASTT T 9UH ARAT TrHeX T oY
A) QESTET §IH

B) Tehex STl o9
C) 3y ST S91A
D) Hediel Sfgl sareT

70) ASTDISHA edie &8s GaRT ddifad TR Sirar
g2
A) NHAI B) IRCTC
C) HDFC C) SBI

71) faeg T TOET T8 Tex T TAYAT Fgi
ST WY § AT wEAad 82
A) AR B)
C) SEeqX D)

Hqrarer
R

72) URL T Gt g7
A) Universal resource locater
B) Uninterrupted resource locater
C) Uniform resource locater
D) None

73) SIRI, Al ara ReeH e T 82
A) T B) 3m@SA
C) dperer D) None

74) AT T 91§ FTCAT 82
A) T F T A
B) SI=aRT ¥ 31 &
C) ge-arel werdf &
D) 3Wied |t #H

75) % 39eT fad 2021 &1 G39 Ul f@ATE fohere
S & 2
A) TR HER
B) Tthel oASTel
C) wltareh Seiiaw
D) None

76) farafaf@a # & sl aREufasw dF(ecosystem)
1 fawar =g &2
A) I T A & Rar g
B) @& i gewh : Aifawh, 3w vd 3o ¥
C) IE U eIl dF & U H3eYE Td gqC
gl @< &
D) ¥ &¢ a7 &

69) Who was the first female chancellor of Aligarh
Muslim university and All India education sumit?

A) Shahjahan begam

B) Sigander jahan begam
C) Asgarijahan begam
D) Sultan jahan begam

70) Who run the ASKLILA chatbot?

A) NHAI B) IRCTC

C) HDFC D) SBI

71) Where is the construction of world class sports
science center is proposed?
A) Gwalior B) Bhopal
C) Jabalpur D) Sehore

72) Full form of URL s ?
A) Universal resource locater
B) Uninterrupted resource locater
C) Uniform resource locater
D) None

73) Who run the Al based voice assistance SIRI?
A) Apple
C) Google

B) Amazon
D) None

74) Methane gas is found at ?
A) Paddy farm
B) Intestine of animals
C) Residual product
D) All of the above

75) Who won the French Open tennis 2021 single male
championship?
A) Rozer fedrrer
B) Raphel nadal
C) NOvan zukovich
D) None

76) Which of the following is not the feature of
ecosystem ?

A) It has a fixed area

B) It has thre components, biotic, abiotic and
energy

C) Its an open system where input and output take
place

D) Its aclosed system




77) WA TN & 39T vy FT H RAr SIar
g?

aIfSAr AT & ITAR

AREASH & TYAT 1 Tl e H

. G & 37X & gliahRe SAT3it 1 s Ha &
Bl HREET $HT A & Fifow ge= &

A) 1,2 B) 1,23

C) 34 D) 12,34

Ao oo

78) fraifafad & i #gr gafoa ad ¢ -
A) TTEHIST Id - ST AT §
B) flstel T - ®RF3T H ¥
C) Mot Sy & 9A@ &ad - goel &d o
D) aiRie ORI & T - Hlall Td AT T §

79) ST T TATS HARAT permananet hardness gidir
g
A) FHfRRHA & FrswEiae
B) #vARIH & SEahreice
C) forrasd vd HTAIRIHA Hothe T ASeT
D) s&# & &I LT

80) faf@a & & @ar gafed &
A) FSTHIA T FSAT A ciiepr T
B) waR1Ss I fedr & fAAATEr
C) €M I el & TANT & soleh e T
D) s1s¢e T 3Hf&hcl § o] el A Jar

81) ¥eYeR Wl & HATeld I Falfteh &ifd gged &
A) o B) #AfEdsH
C) s D) &ex

82) YyTefAE T forg T 3fFar & glar ¥
A) Taforer
B) wEaEcH
C) Tt &y
D) HTer T e

83) frATalf@d # & i T Ay YeuuT Herdietel &
39eT e Werar § IfFa & FAwAT & gor
ST &

A) FIe STS3HTFATSS
B) FIeaT ABFASS
C) 3
D) PAN

77) Ultrasonic waves are used in ?
1. To cure arthritis
2. Todiagnose brain tumor
3. To kill harmfull micro organism in milk
4. Toremove the black stains of factory chimneys
A) 1,2 B) 1,2,3
C) 34 D) 1,2,3,4

78) Which of the following is incorrectly matched?
A) Larukaaj festival — Gond
B) Sidoli system - Korku
C) Cheif God of Baiga - Dulha dev
D) Vachik tradition - Kkol and Bhariya

79) The permanent hardness of water is caused by ?
A) Calcium bicarbonate
B) Magnesium bicarbonate
C) Calcium & Magnesium sulfate and Nitrate

D) None

80) Which of the following is not correct?
A) Artries disease caused by excess of cadmium
B) Small pox is caused by excess of Floride
C) Black foot is caused by excess of lead in water
D) Blue baby syndrome is caused by excess of
nitrate

81) Cellular phones cause maximum harm to which
human organ?
A) Liver
B) Lungs

B) Brain
D) Heart

82) Anthrakosis disease is caused by excess of ..?
A) Silica
B) Asboestos
C) Sugarcane dust
D) Coal dust

83) Which of the following air pollutant dissolve
soonthan in haemoglobin than oxygen?
A) CO2
B) CO
C) Ozone
D) PAN




84) Graphene & SR & FIT Tgl el 8.7
A) Tg faegd Td 3SAT I FTeldh gIdT &
B) IE ureelf gxdr &
C) Ig 3EuTd ¥ &l A1 31T HAq gl §
D) Ig§ el T Uh URT g gl TT=T3-D
glcir &

85) R H URIAT T Fad d31 FehA gallet hr
T fohg T 7 & T2
A) ALT yor
B) 3cdii@s
C) o=@
D) fedArae gger

86) TeR SUcH 2 F4T &7
A) IR FaT ToId FAlS Bled
B) €N ol dfaid & @l Feht
C) &R it afed gagsst
D) &R FaT afaa A

87) aAThf ¢FT & A Sces STl & a1
efaf@a # & sar Femar Sdar g2
A) TdATeT
B) &|Ifsy#d FaiRIzs
C) urefms
D) ST # & WG

88) farafaf@a # & frasr Eaur e AT & Al ?
A) Gene replacement
B) Gene correction
C) Gene augmentations
D) Gene Antisense

89) Centre of cellular and molecular biology T

AT gl 87?
A) T@AF B) 3fEHCETG
C) gexmETe D) 5 feeer

90) Fullerene & X #H &7 Tl &7

1. sgH1 AT Awse F fhar Sar §

2. SHH 3UANRT 99X JedT g7 F fHAr ST §
3. I HfTIHar &l 0T TEfd Fr

4. TR TGAT 9I  HAPT gl ¢

5. C-60 @l d¥c fAfATey R Fer S &
A) 1,23 B) 1,2
B) 1,2,3,5 D) 1,2,3,4,5

84) What is incorrect about Graphene?
A) Itis a good conductor of electricity and heat.
B) Itistransparent
C) Itis 100 times more strong than steel.

D) Itis atype of carbon with 3 —D structure.

85) In which of the following Indian states the largest
light observatory of Asia was established?
A) MP
B) Uttrakhand
C) Laddhakh
D) Himachalpradesh

86) What is Solar impulse -2?
A) Solar powered mobile phone
B) Solar powered solar cooker
C) Solar powered sub marine
D) Solar powered plane .

87) What is mixed with distilled water during narco test?

A) Ethanol

B) Sodium chloride
C) Potasium

D) None

88) Which of the following is not related to gene
therapy?
A) Gene replacement
B) Gene correction
C) Gene augmentations
D) Gene Antisense

89) Where is the headquarter of Centre of cellular and
molecular biology?
A) Lucknow
C) Hyderabad

B) Ahemdabad
D) Delhi

90) What is correct about Fullerene?
1. Itis made from Graphite.
Its used in to make paper battery.
It displays the quality of super conductivity.
Its structure is five fold.

oos W

. C-60 s also known as best Minister fullering.
A) 1,2,3 B) 1,2
C) 1,2,3,5 D) 1,2,3,4,5




fA&er (vesT d&ar 91 ¥ 95 ) : AeAfaf@d or@rer Hi
JeR 38ah 3d H feu v geAr & Ieaw qfSw |
geal & 3ca of@d ) AreRd gl arfgul

ST oY AT SRl & oleT HlH & SgHE! AU &
Qﬁm%lsﬂﬁ:mé’raﬁ-ﬁmm%sﬂ?
AT HAlIG SEadl o IEITF J90T fhar Sar g |
WRETT AT & IR, AEF dH H (380 H)
IR Fga¥ 3 WV, aaaﬁwwaaﬁﬁmm
TR ¥ & gEpfed g 8, mmmm—aww
@%WWW%&WNWWW
TR | Ig TH P TG A § S AT a§ F AN
F Udh g AR et #r Jg fearar § & Sfaad
S R Hsd Hegeral &1 AFANOT § | §1G 1 HAAE
Fouallel SAET oFlaT 8, Fifh H & 9 &Hsd
T8 gld Siafdh Yo AR %ol &5 gld § | T§ TH
fafdse ToeR o arel 3R gosh FHer TG & Bl
gl
91) eafaf@a Fual & & wia a1 TEr § 2

A) FH & ®el, Bl AR gicadm Hsdl gidl &

B) &\ & dUcd %34 gl & Bl AR Bl el |

C) H & wor #3d &ld ¢ Ufcadr iR Hel 78T |
D) i\ & el AR Ucdd Hsd gl & Pel o6l

92) A & Gl
A) gafad 3R drar o1 F g §
B) &% {1 & 3R *sd g ¥ |
C) gd 93 3R fafrse TereR gorer arel g1 § |
D) &he 3R TeeR Forer & Farrdd g ¢ |

93) R A9 Iy 37ar § ?
A) #7eg feq F SRIT
B) IIfFAl & 3R &
C) wiffat & 3ia &
D) aiffar & el fonedt off woa

94) s\ & Uz
A) 3FR @ fou S §
B) HHAAR W FIC BT I &
C) #ey T & NI 3@y & Fle U o &
D) g & HefT FIC I &

95) 31TaT 1 UTHNT Feltepl H T

A) @ & Sgd dR IS AU IR ITINT § raerd
3

B) &I & §gd ¥R 3T AU IR 3UAT § a9
G

C) 3FaY A & U3 &I &IC ad &

D) 3Ua WA & TU & FHY HH FeRII0T &
CECES

Directions (Question Nos. 91 to 95): Read the following
excerpt and answer the questions asked at the end.
The answers to the questions should be based on the
excerpt.

Even today, people in the the countryside are alive to
the neem's versatile virtues. It is seldom cutdown and
is still planted in and around human settlements.
Tradition decrees that, when the Indian new year
come round about midsummer (in April) and the neem
bursts into prodigal, fragrant while Blossom, its tiny
flowers mixed with jaggery should be cooked into a
special side dish, both as a tonic relish to mark the the
commencement of fresh year, and to remind people
that life is an admixture of sweet and bitter
experiences, The later sentiment seems largely
imaginative, for neem flowers are not bitter, though
the leaves and fruits are. They have a characteristic
resinous Aroma and are Mildly astringent.

91) Which of the following statements is true ?

A) The neems fruits, flowers and leaves are bitter.

B) The neem leaves are bitter, the fruits and flowers
are not.

C) The neem fruits are bitter, the leaves and flowers
are not.

D) The neem fruits and leaves are bitter, the flowers
are not.

92) The neem flowers are

A) Fragrant and are yellow in colour

B) White in colour and are bitter.

C) Very big and have a characteristic resinous aroma.
D) White and are fragrant with a resinous aroma.

93) Indian new year comes ?

A) During the middle of the summer
B) At the beginning of the summer
C) Atthe end of the summer

D) Anytime during the summer

94) Neem trees

A) Are often cut down

B) Are usually cut down

C) Are necessarily cut down during midsummar
D) Are rarely cut down

95) Even today, people in the countryside

A) Are aware of the many good properties and uses
of neem

B) Are not aware of the many good properties and
uses of neem

C) Often cut down neem trees

D) Avoid planting neem trees close to where the
live




96) 3MUsh Uesh HRTEY & YR Teh fddesd TEId
foar & 3R 3URT 9o Tl § & gfddes & Fo
3l &1 foar deel R Adher foRar AT § | 3
FIAT AT ?

A) Yfdded & SHT & H TAHR FT ofdl

B) foar 3rtfideyr &t gad, dAcd fFT v A H¥
T TGF G ¢t

C) 3Usl 3NATY &I sAhel fhU IMT 3AT H Hael
Fagr qRadsl FeT AT dgar

D) 39« 3T FI gl foh ag Il fhU 1T
el A Q¥ G @ 3 ereal A aenT fod

97) 9 UH GHEGR &l MUl U (@affdd amgs
3T ST A JololT § 3R TR &7 foer &
& AT dgar §1 39 F47 ST 2

A) 3T 38T FHgd fF T TR & & T & Fhd
3

B) Ife ag 3ifaRera TR & 1 3o & et Y
ar e & @ IR g1 S

C) 3ua! Fgar & 3% aTH WG IRdw 7E §

D) & T & el S &l HeAd g Suar

98) 3T Ueh HR U« & 1 I & 3R 39 gar
T § & 9T @1 Tk aiE et & w®r b
o, fored o 3fe Sedier sEder Scdsie &
FhaT §l UH AR 39 fAdhedd aRss
HAFR F GG A & dEse FS HrIAE!
STET BT 3T &7 FHE ?

A) &R AT & deTeel Hdr o

B) 38 THTER &I 3IWIR & (AT Jhe T &
C) el YHWT & GHW I Fiad Har

D) IS HIIAETN ALl HiaT

99) 3T 39ay U T & T FR H ST W} g 3R
U Hgeaqul A & T muwr & @ s ¥ |
3aent JTr 3Tel W feee S digar agdar gl
3T FAT FHGI?

A) T it 3uftea § a1 76t sadr o
$r ggel HIT
B) 39al fAT & AT AT #1 diee #e @l
T
C) 3uar & & 3R 30w dT T PN FHgar
aifs gekg & ST dH
D) 3 AT & Fga fF IR TsHF W FE
ITAITT af ¢ dl fGeaie dlg &1 8% ¢

96) Your subordinate has submitted a report to you, and
you find out that part of the report are plagiarized.

What will you do?

A) Accept the report as it is

B) Change the plagiarized parts yourself without
telling the subordinate

C) Tell your subordinate to make only cosmetic
changes to the plagiarized parts

D) Ask your subordinate to completely rewrite the

plagiarized parts in his own words

97) You are a shopkeeper. One of your regular customers
ask you to give a bill for a higher amount than what
he paid. What will you do ?

A) Tell him that you can only give a bill for the
correct amount

B) Agree to give the bill if he pays you a fraction of
the excess amount

C) Tell him you do not have a receptor book

D) Agree to give the bill for higher amount

98) You are working in a car company and you found
that one of the parts in the engine is not up to the

specifications, which can lead to more toxic

emissions. Despite information your immediate

superior no action is taken. What will you do?
A) Transfer to a different division

B) Leak this news to a newspaper
C) Report to the head of your division

D) Take no action

99) You are in a car with your colleague and you are late
for an important meeting. Your colleague want to
jump the next red light. What will you do ?

A) Offer to check whether a traffic policemain is
present or not

B) Tell your friend to obey traffic rules

C) Tell your friend to speed up so that you do not
get caught

D) Tell your friend that it is OK to jump the signal if

there is no traffic on the road




100) 3M9sh TSIfEGT & 39 URER F 9§ AR U FC
Ru § #ifh 3% @ & AR W A w
Uedl & HROT §gd 3T @1 ¥ 39 38 FUf
H HH HHTCEN?

A) U FASR3EST X &I

B) U=Ifdal & orgar

C) 3ugead IfUFINAT & FaaTr &er

D) 39et gRER # atfagfet & fav gatRiger i

101) 39 v gford AUy § | 317 goAd & & 39 &
IUFPR &7 A vH wAE IR W E S R/
FAART AT FA W Th 93 G H dgof dohdl gl
3T FT HE?

A) I aRss FRERAT & gRa ae gdieT
HYEr

B) dchlcl HAGEI H & aRcs ORIt @
qiad g

C) ohad &I & gHIAd glel dlel ol & 3TYR OX
AT HRIARE & aleh W AvRr ot

D) FEAEY oA ¥ Tgel oM AT A A Gl
HET

102) 39 T BHEEE & a5 ¢l g8 Si9g @I 95+ &
AT B A0 G G HE dRd & oed fh
qreAT T HAT SEEr geil 3T 3w Ul § 9
et 2
A) BHET & 910 & 3¢ [aam e $r g f§ar
qleT T FSTE d 3cHd HATT

B) SEIIUT 3w o gl T Irch T At
&

C) o # FROT fae FTASIT IAfT &7 § $HFR
T

D) e o Uit & EHT H AT HA dl TR
g S § o 3egAfd < &

103) 39 HRATAT H FH F @I U Afgall & 3TPT
@ 9l 3chfEd &) T@T Bl FE cAfEd e
TRl ¥ 50 @AEw @ Reea & fov aiger
3T I ATAT g1 3T 3T FAT dhgdl ?

A) AT 3TT Fgdl b AT 39 TgHhAT T 39 IR
H 91d FEr

B) 39 3& HgHhAT & AT 3 gRaR & a1d v
3R 3¢ o= F g A F foT FEr

C) 3 Afgel & Fgal o g8 FaT SHHI HRUT ¢

D) 319 AT & Ichisad i T, g &
AT JohIss & I & [T Hgar

100) Your neighbours have cut a lot of trees in their
compound because they say that the house is very
dark due to the thick foliage. How will you handle
this ?

A) lgnoreit

B) Fight with the neighbours

C) Report to the appropriate authorities

D) Plant trees in your compound to compensate

101) You are a police officer. You hear about the trouble
brewing in your jurisdiction, which can become a full
blown riot if immediate action is not taken. What will

you do?

A) Inform your superiors and wait
B) Take

superiors

immediate action and inform your
C) Decide on the course of action purely based on
who will be affected by the riot

D) Wait for the riot to start before taking action

102) You are the warden of a hostel, the students want to
have a 'rain dance' which will involve wastage of a lot
of water at the time when there is drought

everywhere. How will you deal with this situation ?

A) Talk to the student and convince them to

celebrate without wasting water

B) Allow the party because otherwise the student

will be unhappy

C) Deny permission without explaining the reason

to the students

D) Give permission if the students agree to pay for a

tanker of water

103) A lady working in your office is being harassed by her
ex- boyfriend, who is your colleague. She asked you
for advice on how to deal with this problem. What
will you tell her
A) Tell her that you will talk to your colleague about
this

B) Talk to his friend and family and ask them to
advice the boy

C) Tell her that she brought it upon herself

D) Tell her to report the harassment to women's

cells of the organisation




104)3MT & =T & T & & AT W I gl IR

e I ol IR.T. &Y. TN T 8 fr Bufa &

IReTor gl o9 fehe @AdeTe 3ar g, df 98 3

N gH &1 I ad W e ARV S W HgAT

&Y SIrar §1 39 @ar Sy ?

A) BH & @I IS gl U Fifeh AT ofell &

B) ¥ & I HeT SN iR 30el mdfed et &
JSHT AT FHEET

C) aif¥dt &I UHHT THT 3dchl MR W
STIRGEAT FHeall X oldl

D) 3ua T AT &I, I W # tH AWERI §,
Bl & R 3EF @ e Adew @
3T fo=T g &1 AT &oF & fIT germiar

105)afe fordll dwar & 34 gEar & 13 9] IHET e
9 112 37aT § df g8 &&ar grefr ?
A) 8
B) 9
C) 10
D) 11

106) e ¥ T & fFaer 91 3T § ?

A) 13
B) 14
C) 15
D) 16

107)f&. AR & areroh & & 99 § 3R O 7 g
. FaR &1 o & o g3 3 A= T 8
. FAR & et @ Rt IR 9at H Fer
graf, shae:

A) 2,3
B) 2, 4
C) 3,3
D) 4, 2

108)7, L, M 3R N IR =afad g1 31g # ¥ |ad a1
¥ R e AT 7EN M qed 3RF geldeT § )
Y A FEH IST AN L I AN F a1 § WG 7
JYAT M & FAET| 7, L & A gaAarT §, W N &
O A& | AR hiFaE A owAW: Y AR
HAGIAT & NG HH H 36 YR qaiedd
ST @hdT § ?

A) NMLF, LN¥™
B) NLMZ, L¥NM
C) NLMZF, FLNM
D) LNMZ, L¥NM

104) You and two of your friends are travelling by train.
Your ticket status is RAC, i.e., reservation against
cancellation. When the ticket checker comes he
agree to give you three berths if you give him a
bribe, What will you do?

A) Agree to give the bribe since it is a long journey

B) Refused to give the bribe and travel sitting in
your allotted seat

C) Forcibly occupy the berths by threatening the
occupants

D) Call your friend who is an officer in the Railways
to of ask the ticket checker to give you a birth
anyway, without paying the bribe

105) Find the number when added to itself 13 times yields
112.?
A) 8
B) 9
Cc) 10
D) 11

106) How many squares are present in the following
figure ?

A) 13
B). 14
c) 15
D) 16

107) Mr Kumar's paternal grandfather has one son and no
daughter. Mr Kumar's daughter has to paternal aunts
and three paternal uncles. Therefore, Mr. Kumar's
paternal grandfather has what numbers of Grand
daughters and grandsons respectively ?

A) 2,3
B) 2,4
c) 3,3
D) 4,2

108) K, L, M and N are four persons. K is the oldest but not
the poorest, M is the richest but not the oldest, L is
the older then N but not then K or M. K is richer than
L but not then N. The four persons can be ordered
(ascending), in respect of age and richness,
respectively as

A) NMLK, LNKM

B) NLMK, LKNM
C) NLMK, KLNM
D) LNMK, LKNM




109)TH ATl o AUl FTARR dFT H 3F TR
IRaded RaT- oiEs & 40% TTRT aur d@isE &I
20% SGIIT | AT §1T &l &%l ?
A) 12% e =T
B) 20% ©T I=T
C) 28% ®c T
D) Qe &1Fthel & feshel SRTeN &

e - (weT ®. 110 & 113) PAFafaf@a weat &
e & & fav & Tt IeeERAEl # o eAegEE
qfed|

ABCDEFGH 3R | &r W & C, B & 2 fah
WHEIABIATI P Scar AT auwr H AF2
et gf@or H# 81 G, H I 1 5 dgw 7 §
Safs D, G ¥ 3 fFA @@ AT F, G & 2
. 3car # 8 |,BaC & & Acy & f&uad §
S E, Ha D & &« Avy & &g gl

110)E @ G & o &1 gt gefh 2
A) 2 RrT.
B) 1 fra.
C) 1.5 fr.a.
D) 5 f.a.

111)E g | & g 6 g ghfr 2
A) 1 R,
B) 2 fr.a.
C) 3 fFa.
D) 4 fra.

112)A @ F & oy &7 gdr gt 2
A) 1.14 RrT.
B) 1 fr.a.
C) 2 fma.
D) 3 R

113)E @ C & o &1 gl gfr 2
A) R
B) 1 R
C) 2 fma
D) 1.45 fraf.

114)9. 41 & 1% 3Tpfad H1 guor # @ gfafda Hie
T g ? _
| [T [

(A) (B) (©) (D)

109) A gardener has made changes to his existing
rectangular Garden by decreasing its length by 40%
and increasing its width by 20% the area of the new
Garden is ?

A) Has decreased by 12%
B) Has decreased by 20%

C) Has decreased by 28%
D) Is exactly same as the old area

Directions (Question Nos. 110 to 113) : study the

information given below carefully and answer the
questions.

A, B, CD,E,F G,Hand | are nine houses. C is 2 km
east of B. Aiis 1 km north of B and H is 2 km south of A.
Gis 1 km west of H while D is 3 km east of G and F is 2

km north of G. | is situated just in the middle of B and C
while E is just in the middle of H and D.

110) The distance between E and G is ?
A) 2km
B) 1km
C) 1.5km
D) 5km

111) The distance between E and | is?
A) 1km
B) 2km
C) 3km
D) 4 km

112) The distance between A and F is ?
A) 1.14km

B) 1km

C) 2km

D) 3km

113) The distance between E and Cis ?
A) Km

B) 1km

C) 2km

D) 1.45km

114) Choose the correct Mirror image of the following

image.
olj =

(A) (B) (€ (D)




115) TAYe 9g FT IdT TIMST ?
A) D22R
B) G29M
C) T36P
D) V24B

1M16)RT 132 & g & v @ &Y ¢ | 38 IhR
FT e T 3 T 4 # 991 & v, ”T 4 F1 T&r
®Y i AT BIEM?

O F O

— | O |=

L+ — A

1 2 3 4

A — — —

[] [] A —
— A e a

(A) (8) (€) (D)

(A) (B)

G
C

118)afr T av fry & fraer @t & 2

A) 10
B) 11
c) 13
D) 15

115) Find the odd one out.?
A) D22R
B) G29M
C) T36P
D) V24B

116) There is a specific relation between figures 1 and 2.
For establishing the similar relationship between
figure 3 and 4, identify the right one for figure 4.

O + =
—| O] |=
+ | 7= | A

1 2 3 4

A — — —
] ] Z(E& ——

— A o) o

(A) (B) (C) (D)

117)

54

Which is the missing square ?

0 | ©

(A) (B) (C

o
_O\E}
g}

<::>__

O~

(D)

~

118) How many squares are there in the following figure ?

A) 10
B) 11
C) 13

D) 15




119) afg PALE &1 dohd 7865 & 3R EARTH & Hhd
58432 §, a9 ALERT T ddhd glem ?
A) 84543
B) 86743
C) 86543
D) 86453

120) fordT IfSaT gomelr & GODREJ &t FFSEPH forar
ST § 39 Rg T yumer A RED & for@rm
SITQan?

A) EPH
B) ESF
C) SFE
D) EFS

119) If PALE is coded as 7865 and EARTH as 58432, then
ALERT is coded as ?
A) 84543
B) 86743
C) 86543
D) 86453

120) In a coding system, GODREJ is written as KFSEPH. In
such a coding system, RED will be written as ?
A) EPH

B) ESF
C) SFE
D) EFS
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